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THANK YOU FOR YOUR INTERESTING IN THIS
INFORMATION!

0® ¢ W-C ’ £6 s cr
m§ocesa=3mooee-.......-osrq&),s-..._.,-

[ Yield (Current) x Nutrient Content (Current) X (1-N Fixation factor) (Current)]

[Yield (Previous) x Nutrient Content (Previous) x Residual N factor (Previous)] N
Requirement =

(kg/ha) Fertilizer Efficiency (N Recovery Efficiency)

6 C 6 Co 60 .
r$3200MSS (6:2600:00S) Nutrient uptake
| o L | i

C ® COoO 006 . .
(current) = N pllevicrlov il E0l=] e (GiIIII:-G(T.)iIJI?-CD(JS) N Fixation Factor (current) =

N_oe co (€., €0 @@ Yield . B C c 6
OO%{”OJ%G[SH (e.......em~]..-w§) 1eld (previous) = UO3CIOYMSS
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Nitrogen Fixation Factor 2556([33:{j| 53205 6§05 Non

ce 6 C 2C 90
Sq[|FewC 6|500020 @e:...:soos) 0
L J

Leguminous crop (fodder) 0.9

Soybean/ Mung bean (O(L)(S/G e:i::z-OfSC)) 0.75
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Nitrogen Fertilizer Efficiency and Soil Condition (N Recovery Efficiency)

Field Condition N Fertilizer
Efficiency
Value
Default (mmomq03$é.%séan633 -:::::~:-aesas) 0.5 (50%)

Waterlogged soils with grey mottles within 50 cm of the 0.4 (40%)
surface or saturated for more than 60 days per year

Coarser textured soils with high potential for N to be 0.3 (30%)
leached, having ECEC (effective cation exchange
capamty) less than 4 cmollkg

(:Joaosjsmooqucos 26




Soils with prolonged water logging where the soil is 0.2 (20%)
saturated for more than 200 days per year

P, K, Ca, Mg Yield x Nutrient Content x Fertility factor
Requirement = —---mmmmmm e e

(kg / ha) Fertilizer Efficiency

: c 6 C 00
Yield = 33(1300%? (OOSCOOjS)

(W3CAOS) Fertility

(] C 00
23200 (wacamjs)



Fertilizer Efficiency =
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(Soil Fertility Factor ratings and nutrient status)

Fertility Factor

> 0O s C e . € ¢ +¢c 06 cOoe
256530 0P3230C:632§6 26|64 J | MSCUMFE 6 VSV 6
0 1 1

J

i a:jj“%)

Nutrient Status Low Medium High/Very

$O Q0C High

6
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Fertility Factor rating 2 1 0.5

o C c
0 S6 ) [~ B
LL JLO

Ca, Mg at different Soil Condition)

Fertilize Field Condition Fertilize
r r
Efficienc Efficienc
y y Value
P Default (00070063200 0.4 (40%)




P If the soil has high P fixation due to the presence of 0.2 (20%)
Fe and Al oxides.
P BEanS3eoelooeloaBes o & _-¢C
(P 0O %I lo i Gc% JLG LPG?DS?COQ‘§§C ..... .
636(0js6[0q0 O OGLCJJL slp evomes(ye(;
K Default (wmoezao&%@?%eémesa ?:::?aesasf) 0.6 (60%)
Ca Default (Q0000063200§0956C000632(j9632§) | 0.6 (60%)
Mg Default (ooooooesao&% ?%Géoaoeza geesaq?) 0.6 (60%)

(A_)%

= (A)x 102

2.3x10°Kg

(A)x102%x2.3x10°

B x 0.04




C

COD 6| C|=| 10+(B x 0.04)

R € C ~99 ¢ o ¢ o ¢
66UHPSPIEYPDITSECII SO0 A|C D C-(0.1x C)
D/3
E |=| (D/3)0.04
=| F-E

=| (F-E) x 2.2 kg/ha

=| (F-E) x 2.2/2.4 kg/ac
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(A)

6661063000 632|7 ppm

Ax10°

2.3x10°Kg

(A)x10°%x2.3x10°

A)x10°%2.3x10°%0.25
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Ans

(Ans)x2.29 kg/ha




26[0p5 T-Super e[(paw =| (Ans)x2.29x2.2 kg/ha
je’c T-Super =| {(Ans)x2.29x2.2}/2.
4 kg/ha

™ msaoausm maurgac

(A) meq/100gm
Ax39.1x10 mg/kg =
391xA ppm
....... 6
....... s[jdsceren 2.3x10°Kg
c[-a0es e ocnmnmoo’)sacn (Ax391)x10°%x2.3x10°
oSf%oe 660 sec:mKeLCpcm (Ax391)x 10

6%2.3%10°%0.5
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Ans

C-B

(Ans)x1.2 kg/ha

(I)@OOCGBG GJE,) ..... Potash G@JGD

(Ans)x1.2x1.8 kg/ha

/7

ooce oe T J@ Potash

{(Ans)x1.2x1.8}/2.4
7 kg/ha

Requirement x (1+ ©g)




Manure Application = x 0.1 (kg) Nutrient Content

© is the gravimetric water content of the manure in kg/kg

d K =4 IS

. o ¢ cC S .
.:@ma?s‘aoqjmaie 5o

Fertilizer Requirement = ) x 100
Nutrient Requirement (nutrient;

k
(nutrient ,-) ( g)Fertilizer Content (nutrient;)
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Fertilizer requirement (nutrient,) is the amount of a given fertilizer required
to match the requirement for nutrient I (kg/ha).

SR

- . i '-. K
S'BOOO 33’300’)8 G’)GU)S’BO e, ™M (N, P, K Ca, M
Y DS0NR0Y 1’9 Lrg L( 5

(g e a0 8 (g () G| e G QOO0 @ [ )

Fertilizer Content (nutrient,) is the elemental content of nutrient I in the
fertilizer (%)
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Nutrient Requirement (nutrient i)(kg/ha) is the amount of nutrient I
o

SBCDOOCDC

LP -::III:s(OO)OO@”)

calculated above. (3200061 /67602320 05:)0
oomg”moooa 262000 (N, P, K, Ca, Mg) &:: %oqji]Lg
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